The parallax 
Hint; to find the first one look at the letter in the middle of the grid below then find the same later in the top left hand corner of the grid.  
This is your first letter, now try and work out the rest of the letters of this ten letter word from the grid below:
	N
	c
	s
	O
	i
	j
	k
	T
	l
	b
	h
	d
	T
	p
	z

	b
	v
	H
	c
	h
	b
	A
	h
	k
	f
	b
	T
	f
	E
	h

	f
	i
	g
	j
	0 - 
	k
	v
	e
	h
	b
	j
	v
	r
	j
	v

	h
	A
	v
	g
	j
	S
	r
	v
	n
	g
	c
	g
	v
	Y
	b

	l
	v
	h
	s
	f
	e
	h
	u
	f
	w
	h
	c
	o
	b
	x

	h
	f
	j
	c
	j
	r
	h
	h
	s
	g
	b
	r
	h
	g
	s

	t
	j
	T
	d
	f
	g
	h
	j
	k
	l
	k
	f
	d
	a
	Y

	d
	f
	s
	f
	a
	d
	j
	c
	l
	j
	h
	h
	a
	d
	g

	d
	g
	h
	j
	t
	e
	x
	R
	1 .
	r
	Y
	a
	s
	d
	f

	a
	s
	d
	f
	u
	w
	t
	h
	m
	b
	w
	h
	n
	f
	d

	H
	s
	f
	A
	s
	d
	R
	D
	f
	h
	s
	a
	t
	h
	j

	c
	v
	b
	n
	m
	z
	b
	b
	f
	g
	h
	E
	j
	k
	l

	a
	s
	d
	f
	d
	s
	f
	a
	a
	s
	d
	g
	h
	k
	l

	s
	c
	g
	j
	m
	g
	k
	h
	j
	f
	c
	t
	r
	w
	q

	y
	u
	i
	o
	u
	y
	g
	h
	k
	f
	f
	g
	h
	R
	w


 
______ ____

01100100=_		what twelve letters 
[bookmark: _GoBack]01100100=_	hint; they are also found using the answers you got from the numbers on the left of this message. 
01100111=_		_ _ _ _ _ _ _ _ _ _ _ _
01100100=_
01100101=_
01100001=_
01100010=_
01100010=_
01101000=_
01100100=_
01100001=_
01100110=_
+__ ____ ______ 
Once you have completed this, work out how to turn the numbers into letters and call that number. Once you have done that you can tell the person on the other side both the phrase from question one and the twelve letter to the right of that previous task which you now need to work out. 
